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Solving Linear Systems with Three Variables Using Matrix Method

1. Which value is contained in the solution of the system shown below? l
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2. Which value is not contained in the solution of the system shown below? At i 9) |
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3. Which value is contained in the solution of the system shown below? al )
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4. Which value is not contained in the solution of the system shown below?
4x—5y+22=130 Ll -’ 2\ [ 1%
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5. What is the solution of the system shown below?
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6. Solve the following system of equations for all values of X, y, and z using matrix method:

x+3y+5z=45 A s
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7. Solve the following system of equations for all values of x, 9, an z using matrix method:
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8. Solve the followinyg system of € equat1ons for all values of x, y, and z using matrix method:
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2x+3y—-l=—z QYV r2= | < l)
2o iz ¢l
—4y+z=4+3x 3)(“4 2=Y¢ ‘3’{[ Y

D% ~5K . - X= -X
(3); ,4 I J :[ n) 9=
9. Solve the following system of equations for all values of x, y, and z usmg matrix method:
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10. Solve the following system of equations for all valyes of x, y, and z using matrix method:
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11. Solve the following system of equations for all values of x, y, and z using matrix megxod:
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